

# ON AN INEQUALITY OF DIANANDA. PART II.

PENG GAO

Received 31 October 2004 and in revised form 17 March 2005

We extend the result in part I, 2003, of certain inequalities among the generalized power means.

## 1. Introduction

Let  $P_{n,r}(\mathbf{x})$  be the generalized weighted means:  $P_{n,r}(\mathbf{x}) = (\sum_{i=1}^n q_i x_i^r)^{1/r}$ , where  $P_{n,0}(\mathbf{x})$  denotes the limit of  $P_{n,r}(\mathbf{x})$  as  $r \rightarrow 0^+$ ,  $\mathbf{x} = (x_1, x_2, \dots, x_n)$  and  $q_i > 0$  ( $1 \leq i \leq n$ ) are positive real numbers with  $\sum_{i=1}^n q_i = 1$ . In this paper, we let  $q = \min q_i$  and always assume  $n \geq 2$ ,  $0 \leq x_1 < x_2 < \dots < x_n$ .

We define  $A_n(\mathbf{x}) = P_{n,1}(\mathbf{x})$ ,  $G_n(\mathbf{x}) = P_{n,0}(\mathbf{x})$ ,  $H_n(\mathbf{x}) = P_{n,-1}(\mathbf{x})$ , and we will write  $P_{n,r}$  for  $P_{n,r}(\mathbf{x})$ ,  $A_n$  for  $A_n(\mathbf{x})$ , and similarly for other means when there is no risk of confusion.

For mutually distinct numbers  $r, s, t$  and any real numbers  $\alpha, \beta$ , we define

$$\Delta_{r,s,t,\alpha,\beta} = \left| \frac{P_{n,r}^\alpha - P_{n,t}^\alpha}{P_{n,r}^\beta - P_{n,s}^\beta} \right|, \quad (1.1)$$

where we interpret  $P_{n,r}^0 - P_{n,s}^0$  as  $\ln P_{n,r} - \ln P_{n,s}$ . When  $\alpha = \beta$ , we define  $\Delta_{r,s,t,\alpha}$  to be  $\Delta_{r,s,t,\alpha,\alpha}$ . We also define  $\Delta_{r,s,t}$  to be  $\Delta_{r,s,t,1}$ .

Bounds for  $\Delta_{r,s,t,\alpha,\beta}$  have been studied by many mathematicians. For the case  $\alpha \neq \beta$ , we refer the reader to the articles [2, 5, 10] for the detailed discussions. In the case  $\alpha = \beta$  and  $r > s > t$ , we seek the bound

$$f_{r,s,t,\alpha}(q) \geq \Delta_{r,s,t,\alpha}, \quad (1.2)$$

and the bound

$$\Delta_{r,s,t,\alpha} \geq g_{r,s,t,\alpha}(q), \quad (1.3)$$

where  $f_{r,s,t,\alpha}(q)$  is a decreasing function of  $q$  and  $g_{r,s,t,\alpha}(q)$  is an increasing function of  $q$ .

For  $r = 1, s = 0, \alpha = 0, t = -1$ , in (1.2) and (1.3), we can take  $f_{1,0,t,0}(q) = 1/q, g_{1,0,t,0}(q) = 1/(1-q)$ . When  $q_i = 1/n, 1 \leq i \leq n$ , these are the well-known Sierpiński's inequalities [12] (see [6] for a refinement of this). If we further require  $t, \alpha > 0$ , then consideration of

the case  $n = 2$ ,  $x_1 \rightarrow 0$ ,  $x_2 = 1$  leads to the choice  $f_{r,s,t,\alpha} = C_{r,s,t}((1-q)^\alpha)$ ,  $g_{r,s,t,\alpha} = C_{r,s,t}(q^\alpha)$ , where

$$C_{r,s,t}(x) = \frac{1-x^{1/t-1/r}}{1-x^{1/s-1/r}}, \quad t > 0; \quad C_{r,s,0}(x) = \frac{1}{1-x^{1/s-1/r}}. \quad (1.4)$$

We will show in Lemma 2.1 that  $C_{r,s,t}(x)$  is an increasing function of  $x$  ( $0 < x < 1$ ), so the above choice for  $f$ ,  $g$  is plausible. From now on, we will assume  $f$ ,  $g$  to be so chosen.

Note when  $t > 0$ , the limiting case  $\alpha \rightarrow 0$  in (1.2) leads to Liapunov's inequality (see [8, page 27]):

$$\Delta_{r,s,t,0} = \frac{\ln P_{n,r} - \ln P_{n,t}}{\ln P_{n,r} - \ln P_{n,s}} \leq \frac{s(r-t)}{t(r-s)} =: C(r,s,t). \quad (1.5)$$

From this (or by letting  $q \rightarrow 0$  when  $\alpha = 1$ ), one easily deduces the following result of Hsu [9] (see also [1]):  $\Delta_{r,s,t} \leq C(r,s,t)$ ,  $r > s > t > 0$ .

For  $n = 2$  and  $r > s > t \geq 0$ ,  $\Delta_{r,s,t,\alpha} \rightarrow (r-t)/(r-s)$  as  $x_2 \rightarrow x_1$ . Therefore, the two inequalities (1.2) and (1.3) cannot hold simultaneously in general. Now for any set  $\{a, b, c\}$  with  $a, b, c$  mutually distinct and nonnegative, we let  $r = \max\{a, b, c\}$ ,  $t = \min\{a, b, c\}$ ,  $s = \{a, b, c\} \setminus \{r, t\}$ . By saying (1.2) (resp. (1.3)) holds for the set  $\{a, b, c\}$ ,  $\alpha > 0$ , we mean (1.2) (resp. (1.3)) holds for  $r > s > t \geq 0$ ,  $\alpha > 0$ .

In the case  $\alpha = 1$ , a result of Diananda (see [3, 4]) (see also [1, 11]) shows that (1.2) and (1.3) hold for  $\{1, 1/2, 0\}$  and his result has recently been extended by the author [7] to the cases  $\{r, 1, 0\}$  and  $\{r, 1, 1/2\}$  with  $r \in (0, \infty)$ . It is the goal of this paper to further extend the results in [7].

## 2. Lemmas

LEMMA 2.1. *For  $0 < x < 1$ ,  $0 \leq t < s < r$ ,  $C_{r,s,t}(x)$  is a strictly increasing function of  $x$ . In particular, for  $0 < q \leq 1/2$ ,  $C_{r,s,t}(1-q) \geq C_{r,s,t}(q)$ .*

*Proof.* We may assume  $t > 0$ . Note  $C_{r,s,t}(x) = C_{1,s/r,t/r}(x^{1/r})$ , thus it suffices to prove the lemma for  $C_{1,r,s}$  with  $1 > r > s > 0$ . By the Cauchy mean value theorem,

$$\frac{1/s-1}{1/r-1} \cdot \frac{1-x^{1/r-1}}{1-x^{1/s-1}} = \eta^{1/r-1/s} < x^{1/r-1/s} \quad (2.1)$$

for some  $x < \eta < 1$  and this implies  $C'_{1,r,s}(x) > 0$  which completes the proof.  $\square$

LEMMA 2.2. *For  $1/2 < r < 1$ ,  $C_{1,r,1-r}(1/2) > r/(1-r)$ .*

*Proof.* By setting  $x = r/(1-r) > 1$ , it suffices to show  $f(x) > 0$  for  $x > 1$ , where  $f(x) = 1 - 2^{-x} - x(1 - 2^{-1/x})$ . Now  $f''(x) = (\ln 2)^2 2^{-x} x^{-3} (2^{x-1/x} - x^3)$  and let  $g(x) = (x - 1/x) \ln 2 - 3 \ln x$ . Note  $g'(x)$  has one root in  $(1, \infty)$  and  $g(1) = 0$ , it follows that  $g(x)$ , hence  $f''(x)$ , has only one root  $x_0$  in  $(1, \infty)$ . Note when  $f''(x) > 0$  for  $x > x_0$ , this together with the observation that  $f(1) = 0$ ,  $f'(1) = \ln 2 - 1/2 > 0$ ,  $\lim_{x \rightarrow \infty} f(x) = 1 - \ln 2 > 0$  shows  $f(x) > 0$  for  $x > 1$ .  $\square$

LEMMA 2.3. *Let  $0 < q \leq 1/2$ . For  $0 < s < r < 1$ ,  $r+s \geq 1$ ,  $C_{1,r,s}(1-q) > (1-s)/(1-r)$ . For  $0 \leq s < 1 < r$ ,  $C_{r,1,s}(1-q) > (r-s)/(r-1)$  and for  $1 < s < r$ ,  $C_{r,s,1}(1-q) > (r-1)/(r-s)$ .*

*Proof.* We will give a proof for the case  $1 > r > s > 0$ ,  $r + s \geq 1$  here and the proofs for the other cases are similar. We note first that in this case  $1/2 < r < 1$ . By Lemma 2.1, it suffices to prove  $C_{1,r,s}(1/2) > (1-s)/(1-r)$ . Consider

$$f(s) = (1-r) \left( 1 - \left( \frac{1}{2} \right)^{1/s-1} \right) - (1-s) \left( 1 - \left( \frac{1}{2} \right)^{1/r-1} \right). \quad (2.2)$$

We have  $f(r) = 0$  and Lemma 2.2 implies  $f(1-r) > 0$ . Now  $f'(r) = 2^{1-1/r}g(1/r)$ , where  $g(x) = -\ln 2(x^2 - x) + 2^{x-1} - 1$  with  $1 < x < 2$ . One checks easily  $g(1) = g'(1) = 0$ ,  $g''(x) < 0$  which implies  $g(x) < 0$ . Hence,  $f'(r) < 0$ , this combined with the observation that

$$f''(s) = (1-r) \ln 2 \left( \frac{1}{2} \right)^{1/s-1} \frac{(2s - \ln 2)}{s^4} \quad (2.3)$$

has at most one root and  $f''(r) > 0$ ,  $f(1-r) > 0$ ,  $f(r) = 0$  imply that  $f(s) > 0$  for  $1-r \leq s < r$ .  $\square$

### 3. The main theorems

**THEOREM 3.1.** *Let  $\alpha = 1$ . Inequality (1.2) holds for the set  $\{1, r, s\}$ , with  $1, r, s$  mutually distinct and  $r > s \geq 0$ ,  $r+s \geq 1$ . The equality holds if and only if  $n = 2$ ,  $x_1 = 0$ ,  $q_1 = q$ .*

*Proof.* The case  $s = 0$  was treated in [7], so we may assume  $s > 0$  here. We will give a proof for the case  $1 > r > s > 0$  here and the proofs for the other cases are similar. Define

$$D_n(\mathbf{x}) = A_n - P_{n,r} - C(1-q)(A_n - P_{n,s}), \quad C(x) = \frac{1 - x^{1/r-1}}{1 - x^{1/s-1}}. \quad (3.1)$$

By Lemma 2.3, we need to show  $D_n \geq 0$  and we have

$$\frac{1}{q_n} \frac{\partial D_n}{\partial x_n} = 1 - P_{n,r}^{1-r} x_n^{r-1} - C(1-q)(1 - P_{n,s}^{1-s} x_n^{s-1}). \quad (3.2)$$

By a change of variables:  $x_i/x_n \rightarrow x_i$ ,  $1 \leq i \leq n$ , we may assume  $0 \leq x_1 < x_2 < \dots < x_n = 1$  in (3.2) and rewrite it as

$$g_n(x_1, \dots, x_{n-1}) := 1 - P_{n,r}^{1-r} - C(1-q)(1 - P_{n,s}^{1-s}). \quad (3.3)$$

We want to show  $g_n \geq 0$ . Let  $\mathbf{a} = (a_1, \dots, a_{n-1}) \in [0, 1]^{n-1}$  be the point in which the absolute minimum of  $g_n$  is reached. We may assume  $a_1 \leq a_2 \leq \dots \leq a_{n-1}$ . If  $a_i = a_{i+1}$  for some  $1 \leq i \leq n-2$  or  $a_{n-1} = 1$ , by combining  $a_i$  with  $a_{i+1}$  and  $q_i$  with  $q_{i+1}$ , or  $a_{n-1}$  with  $1$  and  $q_{n-1}$  with  $q_n$ , it follows from Lemma 2.1 that we can reduce the determination of the absolute minimum of  $g_n$  to that of  $g_{n-1}$  with different weights. Thus without loss of generality, we may assume  $a_1 < a_2 < \dots < a_{n-1} < 1$ .

If  $\mathbf{a}$  is a boundary point of  $[0, 1]^{n-1}$ , then  $a_1 = 0$ , and we can regard  $g_n$  as a function of  $a_2, \dots, a_{n-1}$ , then we obtain

$$\nabla g_n(a_2, \dots, a_{n-1}) = 0. \quad (3.4)$$

Otherwise  $a_1 > 0$ ,  $\mathbf{a}$  is an interior point of  $[0, 1]^{n-1}$  and

$$\nabla g_n(a_1, \dots, a_{n-1}) = 0. \quad (3.5)$$

In either case  $a_2, \dots, a_{n-1}$  solve the equation

$$(r-1)P_{n,r}^{1-2r}x^{r-1} + C(1-q)(1-s)P_{n,s}^{1-2s}x^{s-1} = 0. \quad (3.6)$$

The above equation has at most one root (regarding  $P_{n,r}, P_{n,s}$  as constants), so we only need to show  $g_n \geq 0$  for the case  $n = 3$  with  $0 = a_1 < a_2 = x < a_3 = 1$  in (3.3). In this case we regard  $g_3$  as a function of  $x$  and we get

$$\frac{1}{q_2}g'_3(x) = P_{3,r}^{1-2r}x^{r-1}h(x), \quad (3.7)$$

where

$$h(x) = r-1 + (1-s)C(1-q)(q_2x^{s/2} + q_3x^{-s/2})^{(1-2s)/s}(q_2x^{r/2} + q_3x^{-r/2})^{(2r-1)/r}. \quad (3.8)$$

If  $q_2 = 0$  (note  $q_3 > 0$ ), then

$$h(x) = r-1 + (1-s)C(1-q)q_3^{1/s-1/r}x^{s-r}. \quad (3.9)$$

One easily checks that in this case  $h(x)$  has exactly one root in  $(0, 1)$ . Now assume  $q_2 > 0$ , then

$$h'(x) = (1-s)C(1-q)P_{3,s}^{1-3s}P_{3,r}^{r-1}x^{-(r+s+2)/2}p(x), \quad (3.10)$$

where

$$p(x) = (r-s)(q_2^2x^{r+s} - q_3^2) + (r+s-1)q_2q_3(x^r - x^s). \quad (3.11)$$

Now

$$p'(x) = x^{s-1}((r^2 - s^2)q_2^2x^r + (r+s-1)q_2q_3(rx^{r-s} - s)) := x^{s-1}q(x). \quad (3.12)$$

If  $r+s \geq 1$ , then  $q'(x) > 0$  which implies there can be at most one root for  $p'(x) = 0$ . Since  $p(0) < 0$  and  $\lim_{x \rightarrow \infty} p(x) = +\infty$ , we conclude that  $p(x)$ , hence  $h'(x)$ , has at most one root. Since  $h(1) < 0$  by Lemma 2.3 and  $\lim_{x \rightarrow 0^+} h(x) = +\infty$ , this implies  $h(x)$  has exactly one root in  $(0, 1)$ .

Thus  $g'_3(x)$  has only one root  $x_0$  in  $(0, 1)$ . Since  $g'_3(1) < 0$ ,  $g_3(x)$  takes its maximum value at  $x_0$ . Thus  $g_3(x) \geq \min\{g_3(0), g_3(1)\} = 0$ .

Thus we have shown  $g_n \geq 0$ , hence  $\partial D_n / \partial x_n \geq 0$  with equality holding if and only if  $n = 1$  or  $n = 2$ ,  $x_1 = 0$ ,  $q_1 = q$ . By letting  $x_n$  tend to  $x_{n-1}$ , we have  $D_n \geq D_{n-1}$  (with weights  $q_1, \dots, q_{n-2}, q_{n-1} + q_n$ ). Since  $C$  is an increasing function of  $q$ , it follows by induction that  $D_n > D_{n-1} > \dots > D_2 = 0$  when  $x_1 = 0$ ,  $q_1 = q$  in  $D_2$ . Else  $D_n > D_{n-1} > \dots > D_1 = 0$ . Since we assume  $n \geq 2$  in this paper, this completes the proof.  $\square$

The relations between (1.2) and (1.5) seem to suggest that if (1.2) holds for  $r > s > t \geq 0$ ,  $\alpha > 0$ , then (1.2) also holds for  $r > s > t \geq 0$ ,  $k\alpha$  with  $k < 1$  and if (1.3) holds for  $r > s > t \geq 0$ ,  $\alpha > 0$ , then (1.3) also holds for  $r > s > t \geq 0$ ,  $k\alpha$  with  $k > 1$ . We do not know the answer in general but for a special case, we have the following.

**THEOREM 3.2.** *Let  $r > s > 0$ . If (1.2) holds for  $\{r, s, 0\}$ ,  $\alpha > 0$ , then it also holds for  $\{r, s, 0\}$ ,  $k\alpha$  with  $k > 1$ . If (1.3) holds for  $\{r, s, 0\}$ ,  $\alpha > 0$ , then it also holds for  $\{r, s, 0\}$ ,  $k\alpha$  with  $0 < k < 1$ .*

*Proof.* We will only prove the first assertion here and the second can be proved similarly. By the assumption, we have

$$P_{n,r}^\alpha - G_n^\alpha \geq \frac{1}{1 - (q^\alpha)^{1/s-1/r}} (P_{n,r}^\alpha - P_{n,s}^\alpha). \quad (3.13)$$

We write the above as

$$P_{n,s}^\alpha \geq (q^\alpha)^{1/s-1/r} P_{n,r}^\alpha + (1 - (q^\alpha)^{1/s-1/r}) G_n^\alpha. \quad (3.14)$$

We now need to show for  $k > 1$ ,

$$P_{n,s}^{k\alpha} \geq (q^{k\alpha})^{1/s-1/r} P_{n,r}^{k\alpha} + (1 - (q^{k\alpha})^{1/s-1/r}) G_n^{k\alpha}. \quad (3.15)$$

Note by (3.14), via setting  $w = (q^{k\alpha})^{1/s-1/r}$ ,  $x = G_n / P_{n,r}$ , it suffices to show

$$f(x) =: (w + (1 - w)x^k)^{1/k} - w^{1/k} - (1 - w^{1/k})x \leq 0, \quad (3.16)$$

for  $0 \leq w, x \leq 1$ . Note

$$f'(x) = (1 - w)(wx^{-k} + (1 - w))^{1/k-1} - (1 - w^{1/k}), \quad (3.17)$$

thus  $f'(x)$  can have at most one root in  $(0, 1)$ , note also  $f(0) = f(1) = 0$  and  $f'(1) > 0$ , we then conclude  $f(x) \leq 0$  for  $0 \leq x \leq 1$  and this completes the proof.  $\square$

### Acknowledgment

The author is grateful to the referees for their valuable comments and suggestions.

## References

- [1] P. S. Bullen, D. S. Mitrinović, and P. M. Vasić, *Means and Their Inequalities*, Mathematics and Its Applications (East European Series), vol. 31, D. Reidel Publishing, Dordrecht, 1988.
- [2] D. I. Cartwright and M. J. Field, *A refinement of the arithmetic mean-geometric mean inequality*, Proc. Amer. Math. Soc. **71** (1978), no. 1, 36–38.
- [3] P. H. Diananda, *On some inequalities of H. Kober*, Proc. Cambridge Philos. Soc. **59** (1963), 341–346.
- [4] ———, “*On some inequalities of H. Kober*”: *Addendum*, Proc. Cambridge Philos. Soc. **59** (1963), 837–839.
- [5] P. Gao, *Certain bounds for the difference of means*, JIPAM. J. Inequal. Pure Appl. Math. **4** (2003), no. 4, article 76, 10 pp.
- [6] ———, *Ky Fan inequality and bounds for differences of means*, Int. J. Math. Math. Sci. **2003** (2003), no. 16, 995–1002.
- [7] ———, *On an inequality of Diananda*, Int. J. Math. Math. Sci. **2003** (2003), no. 32, 2061–2068.
- [8] G. H. Hardy, J. E. Littlewood, and G. Pólya, *Inequalities*, Cambridge University Press, Cambridge, 1952.
- [9] L. C. Hsu, *Questions 1843, 1844*, Math. Student **23** (1955), 121.
- [10] A. McD. Mercer, *Some new inequalities involving elementary mean values*, J. Math. Anal. Appl. **229** (1999), no. 2, 677–681.
- [11] D. S. Mitrinović, J. E. Pečarić, and A. M. Fink, *Classical and new inequalities in analysis*, Mathematics and Its Applications (East European Series), vol. 61, Kluwer Academic, Dordrecht, 1993.
- [12] W. Sierpiński, *On an inequality for arithmetic, geometric and harmonic means*, Warsch. Sitzungsber. **2** (1909), 354–358 (Polish).

Peng Gao: Department of Mathematics, University of Michigan, Ann Arbor, MI 48109, USA  
 E-mail address: penggao@umich.edu

## Special Issue on Intelligent Computational Methods for Financial Engineering

### Call for Papers

As a multidisciplinary field, financial engineering is becoming increasingly important in today's economic and financial world, especially in areas such as portfolio management, asset valuation and prediction, fraud detection, and credit risk management. For example, in a credit risk context, the recently approved Basel II guidelines advise financial institutions to build comprehensible credit risk models in order to optimize their capital allocation policy. Computational methods are being intensively studied and applied to improve the quality of the financial decisions that need to be made. Until now, computational methods and models are central to the analysis of economic and financial decisions.

However, more and more researchers have found that the financial environment is not ruled by mathematical distributions or statistical models. In such situations, some attempts have also been made to develop financial engineering models using intelligent computing approaches. For example, an artificial neural network (ANN) is a nonparametric estimation technique which does not make any distributional assumptions regarding the underlying asset. Instead, ANN approach develops a model using sets of unknown parameters and lets the optimization routine seek the best fitting parameters to obtain the desired results. The main aim of this special issue is not to merely illustrate the superior performance of a new intelligent computational method, but also to demonstrate how it can be used effectively in a financial engineering environment to improve and facilitate financial decision making. In this sense, the submissions should especially address how the results of estimated computational models (e.g., ANN, support vector machines, evolutionary algorithm, and fuzzy models) can be used to develop intelligent, easy-to-use, and/or comprehensible computational systems (e.g., decision support systems, agent-based system, and web-based systems)

This special issue will include (but not be limited to) the following topics:

- **Computational methods:** artificial intelligence, neural networks, evolutionary algorithms, fuzzy inference, hybrid learning, ensemble learning, cooperative learning, multiagent learning

- **Application fields:** asset valuation and prediction, asset allocation and portfolio selection, bankruptcy prediction, fraud detection, credit risk management
- **Implementation aspects:** decision support systems, expert systems, information systems, intelligent agents, web service, monitoring, deployment, implementation

Authors should follow the Journal of Applied Mathematics and Decision Sciences manuscript format described at the journal site <http://www.hindawi.com/journals/jamds/>. Prospective authors should submit an electronic copy of their complete manuscript through the journal Manuscript Tracking System at <http://mts.hindawi.com/>, according to the following timetable:

Manuscript Due	December 1, 2008
First Round of Reviews	March 1, 2009
Publication Date	June 1, 2009

### Guest Editors

**Lean Yu**, Academy of Mathematics and Systems Science, Chinese Academy of Sciences, Beijing 100190, China; Department of Management Sciences, City University of Hong Kong, Tat Chee Avenue, Kowloon, Hong Kong; [yulean@amss.ac.cn](mailto:yulean@amss.ac.cn)

**Shouyang Wang**, Academy of Mathematics and Systems Science, Chinese Academy of Sciences, Beijing 100190, China; [sywang@amss.ac.cn](mailto:sywang@amss.ac.cn)

**K. K. Lai**, Department of Management Sciences, City University of Hong Kong, Tat Chee Avenue, Kowloon, Hong Kong; [mskklai@cityu.edu.hk](mailto:mskklai@cityu.edu.hk)